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9ol mﬁﬂf/Candldates should read carefully the instruction's in the Question booklet and OMR Answer
Sheet before start answering.

2. 3ifer-cligeT 3mdeaT & 3nafRiAt garr U v s & R 9v RAf@a oder & Qv gemar @4 g At
U e & Ioid §T F AT § ar gAN AT F RGN degar Ag & ar madr
319gf¥ar i 7 Swell/ Candidates have been called for the written test based on the data furnished by
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3. e gfar & fAdere fr sofeufd § & vdyr FS/eeEnE F gEaRR #er difgu/Candidates should
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4. maqamma’r@rmwmaamam) ol AT & 3caR A & fIU el ¥ Ueh NTAAR
ofic f&am Sam & The question paper is in the form of Question Booklet with 75 questions. A separate
OMR sheet is provided for answering the Questions.

5. mamagn(vmmmmmmMsz%mmm#mm
/Question Booklet series code (A/B/C/D/IE) printed on the right hand top corner
should be written in the OMR answer sheet in the place provided.
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10.

1.

12.

13.

14.

15.

16.

17.

18.

33l @ AT AT 3R FHBES FeX) G e # e grfgu/Candidates should enter their

Name and Roll Number in the Question Booklet.

3%’1@31'1?Wg%—ﬁr@rl-TaﬁWﬂﬁ:ﬂﬁ/aﬂﬁﬁﬁQ’l‘s"?f‘-’l?fﬁ%’rmﬂ'l%‘tfwlentriesinthe

OMR answer sheet should be with blue/black ball point pen only.

fAfaa oleT 9F ug ¥ fav FURE d9Edar & HUR ), SEET SER & 9 3l g, e

2

AF TH & gEase T8I The written test will be of objective type based on the qualification prescribed for
the post with four answers indicated, of which only one will be unambiguously correct.

3t Y WE Ieak WIS A NTHAAR 3eck G 3 R METER A sfer fige 9 @Rt
AR N & HUSHR [T 7 A HEAT afew/ Candidates have to select the right answer by
marking the corresponding oval on the OMR answer sheet by blue/black ball point pen as per the
instructions given in the OMR answer sheet.

Fel o7 & AT TR 3 @1, el 7 @ W T 3 3N TF AT 3 U ITeid Seal & fATAI
questions carry four marks each, zero marks for no answer and one negative mark for a wrong answer.

g% WA & fow gel 3eal A Seal HeAl STTaT/Multiple answers for a question will be regarded as
a wrong answer.

AN 7 ATHT 3T 0T & FT aev| Jfaked MNTAANR e agr A Smeam/Marking in OMR

may be done with\utmost care. No spare OMR sheet will be provided.

fg et & 3151??1 iy =g, & smuef/Computers, Calculators, mobile phones, reference books, logarithm
table, electronic gadgets ete:‘will not be allowed inside the Examination Hall.

woeT T 3 3Ty Sig Foa AW & fAT 3TAeT fRAT ST HeRd @/Space available in the Question

Bookiet can be used for rough work.

ohem Y TART ¥ A, FeHAAT e F TN wwr i Baar AF F @y w3 & AR HN AT
TR ofe Bdes # & afpe Rk IRy sdt & o T@eT ATfEe/On completion of the test,
tear the OMR answer sheet along the perforation mark at the top and hand over the original OMR
answer sheet to the invigilator and retain the duplicate copy with candidates.

m%ma?%adia?a’kmmﬁﬂﬁ@mﬁﬁmmﬂﬁﬂﬁaﬁ%mandidatesare

not permitted to leave the Examination Hall during thefirst one and a half hour of the examination.

st S 1150 6 & are qET gfd ¥ Al o €, I e qfeadw 3 A @ A seAfq

¥/Candidates leaving the examination hall after 1150 hrs will be allowed to retain the Question Booklet.

e F o, et @ AR M IR gavgw et B e arfgu/After the Examination,

candidates should hand over OMR Answer Sheet and Admit Card to the Invigilator.

o 3k ok ok ok %k ok ok ok ok
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At Taras (Rega) & 98 & 934 g fof@d wfam
WRITTEN TEST FOR SELECTION TO THE POST OF
TECHNICAL ASSISTANT (ELECTRICAL)

Teca fAaar & feav AT feu gu & @l faefr ¥F §/Which of the following is dimensional

formula for Gravitational constant?
@ M2LT? ® ~ ML'T?
© M'LT? @  ML?T!

3 FueT 3K 4 FTA IRATT F & FreaT’ GHEAT T WER 60° HIOT FAAT g, A RAeicee &
gR&AToT #/Two coplanar concurrent forces of magnitude 3kN and 4kN makes an angle 60° with each

other, then the magnitude of resultant is:
(@ 4.03 kN (b)  3.25kN
(c) 6.08kN (d  7kN

T, & @ 9 @ dfa)ae FAw 95,7 & W & § @A quid: @ §/pH values of
solutions A, B, C are respectively 9, 5, 7, then which of the following is fully correct:

(a) TA=31FT ®ral/Acidi€ solution, dI/B = eTT "Tel/Alkaline solution, TY/C = fTsI$ITdT

glel/Neutral solution

(b) T/A =8&RIT ©lcl/Alkaline solution, /B = fswerdr Tel/Neutral solution, HY/C = 3Felrd
"lel/Acidic solution

(©) TA =8&RIT =lal/Alkaline solution, /B = 3750 Gel/Acidic solution, HY/C = fasgaTeY
"lel/Neutral solution

d) TA=3Fed "Tel/Acidic solution, SY/B & HI/C are 8T ©Tel/Alkaline solutions

ﬁ@m#mﬁgﬁﬁ@mﬂaﬁaﬁm%mﬁﬁmmﬁagﬁm
" gﬁﬂﬁ I AT - gfed giar g/ occurs when two metals or alloys having
different compositions are electrically coupled while exposed to electrolyte:

(a) T H&TRUT/Direct corrosion

(b) ﬁ'dg?f THAfAS H&IROT/Electro chemical corrosion
) 3rorafas F&RUI/Galvanic corrosion

(d) 3"1'{13’? H FIS AGI/None of the above
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10.

AT d9AT & IARTA & ud o & v Jad TIRIR dieedl - &/Junction

barrier voltage for PN junction of Germanium at room temperature is:

@ 0.7V () 03V
© 0.5V @ 12V
Qfee R S /AT RS AT 43 g1aT & 3R 33T A THAT FOR 8l § 3H - gl SATar

&/The polymers which soften when heated and harden when cooled are called:

@) AT AfET caf@ean/Thermo-setting plastics
() uHAf CATTECah/ Thermo-plastics

(c) YUHA TaTiEeah/Thermal plastics

(d) W’{iﬂ—?f " Eﬁé’ #e1/None of the above

T # ¥ H9-9T UF sSesofdesd ATt @67 §/Which of the following is not a dielectric

material:

(a) &fAIH/ Titdnium

(b) cerfaAN/ Titania (T105)

(c) ORI ¢TaAe/Barium titanate (BaTiOs3)

(d) HIShI/Mica

(Cos A-Sin A+ 1)/ (Cos A + Sin A — 18X /simplifies to:

(@ Cosec A+ Cot A (b) Cot A —Cosec A

(¢) Cosec A—CotA (d) Cosec’A — Cot* A

fawT fow gu ar deet # le-ar deofr §/Which of'the following two vectors are orthogonal?

(@) 2i+5)—6k & 7i+2j+4k (b)  3i+4fJ6k & Ti +2j + 4k
(©) 2i+5)—6k & 8i+3j + 4k @)  4i+4j=3k & 5i+4j + 6k
gfe /
IfA:(4 3] then A —2A4 =
2 1
-85 -4.5 85 45
b
@ (_3 _4j 0 (3 4]
-85 45 85 —-45
d
© (_3 _4] @ [_3 _4j
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11.

12

13.

14.

15.

fou Acad &7 S @ HeT &1 &/In the given network what is the value of I?

10 1Q
AN WAVAVA! |
10
10 g (@) 15A g At
+
5V )
(@ 1A (b) 6A
) 3A d 2A
Th 60W T 3000 A+ & fow 3 § ar fhalae - gel @ad a1 g/ What is the
kilowatt — hour consumption of a 60 W lamp if it is ON for 3000 minutes?
(@ 3000 (b) 180
(c). 3 (d) 1800000

UF AR M F ey o F ¥ P R Aew BE & §7 #H W1 &/ Which of the

following remains constant non Zero value inside a conducting sphere?

(a) YleferIIel/Potential (b) Solfagah Folard/Electric flux
(c) ?-IIGi/Charge (d) W%raﬂ f&EI/Electric intensity

THUAUS & IfAc &7 §/What is the unit of MNF?

(a) deX/HEI/Weber/meter (b) &L/ /Henry/meter
(c) mﬁﬂ“{—@f/Ampere-tum (d) ¥ -@vi(Henry-turns

SE T aed 1 GaE YET & AT dd & IR A ¢, a9 TP aRAS HHER, AT TS F
FHGK Ffeud g 6 3T w&ifg § ar 38— el STaT 8/When an object has surfaces

inclined to principal planes of projection, then the true shape of inclined surface is projected on an
imaginary plane parallel to inclined surface, then it is called:

(a) TSTATEH T&Td/Isometric projection

(b) 3RS T&Td/Orthographic projection
() 3TTFTeRT 9ed/Auxiliary projection

(d) UTYFET HaTd/Perspective projection
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16.

17.

18.

18.

3R Boar 33 3R S 4 M U YT JedrhR AF H AW, Th Jod N AFN § Al

e 3R A% FIOT FAA: - grar &/ The development of a right circular cone of base
radius 3m & height 4m is a sector of a circle, then radius and angle of sector respectively are:

(@ 5m & 312° (b) S5m & 216°

(c) 4m & 216° (d  7m & 312°

60 mm wiaTS 1 TEw @l W@ Afde gEde 3R IR 9gA Jeduie a8 AR 918 eSS T

¥ FHFAT 67 3T 60° A9 & ar &ifger 3R Ftharer ao & fera ar fr Fars FAT - &/

A straight line of length 60mm is jnclined at 60° to horizontal plane and parallel to left and right
profile planes in first quadrant, then the length of projected line on horizontal and vertical planes
respectively are:

(@ 30 mm & 60 mm (b) 60 mm & 30 mm

(¢ 30 mm &30 V3 mm (@  30V3 mm & 30 mm

ﬁmmmﬁ(ﬁwﬁ%@mﬂamémwvﬁmmﬁm
yaiza ¥ wfauss & W dieear ga 100V g1 Fsen H Wehdl IRFAT FUIn the

following RL circuit (pure resistancesin series with pure inductance), a current 10 A flows through
the resistance. Voltage drop across theresistor is 100V. Calculate the inductance of the coil.

R L
MA__ (000

1=10A
_..__._—. ._.__
200V, 50Hz

(@ 55H (b) 55 mH
(c) 83H (d 83 mH
HRTH aRUY T S@ell F 3 W faegd oeh - 2/In a series RLC circuit, power
factor at resonance is
(a) Eircﬁi?{ &Y/Infinity (b) R/ Zero
(c) ?Jﬁ'a'/Unity (d) >10
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20.

21.

20

23.

24.

ar aiar &1 gorer & fAv e v g A FiA-ar vdr g 39ATET §/Which of the following

is an AC bridge used for comparing two capacitances.

(a) drerelsd f;l'sﬁ'/ Wheatstone bridge

() glaaTSs-FIASH SaFad 3fe74Td fSigST/Heaviside — Campbell equal ratio bridge
(c) 3Irarer fSIgS1/De sauty bridge

@) 39dad @Al of the above

9

LTI B2 BT o £ (k S— fAgid 9T #RRT 8/A DC generator works on the principle of
(a) g dli/Len’z law

(b) RS AT 3TH SolFeIATIATCHh Seadela/Faraday’s law of electromagnetic induction
(c) 37T @1/Ohm’s law

(d) ;\W?H d/Coloumb’s law

AT SET & JHA A e AT P &I - & HIOT &/lron or core loss in the armature

of the DC generators is due'to

() TRERRAT 3R vsdr ar1.&1 A/ Hysteresis and eddy current loss
(b) drg gfaIer &7fd/Air resistanCe loss

© I’R&fd/loss

(d) B'UQEEPT-T GHV/All of the above

2- 9ieT 400V T FeeX F IHT FT 500 el 313400 IRATH 7 Tofar g1 a9 &

FIFH W 9IeT Tepfoid &/The armature of a 2- pole 400V D€ generator has 500 conductors and
runs at 400 RPM. Calculate flux per pole in webers.

(@ 0.12wb () 1.2wb

(c) 1.875wb (d  0.1875wb

80 # &hia-ArT §/Which of the following is the correct mathematical relationship that connects
;rimary and secondary parameters of a transformer?

@@ (Vo/V)=Ni/Ny)=(0i/I) =k

() (V2/V))=(Na/Ny) = (I/L) =k

© (V2/V)=N/Np=(1/L) =k

(d) (VofV1) =(Ni/Ny) = (I/I)) =k
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25.

26.

27.

28.

29.

30.

Wgﬂ:&ﬁ?ﬁ?ﬁﬁgqﬁwmqﬁwqﬂm ---------- FEROT T & AU 3TAET g/ln a

transformer, short circuit or impedance test is used to determine

(a) I &7fd/Core loss (b) T Y41/ Turn ratio
© Rama gfaRrer/Leakage resistance (d) quflfﬁf gH/All of the above

Wswmﬁmaﬁ-ﬂ‘rmA-AmﬁQﬁaﬁammé,ﬁmﬁwﬁqﬁ

------------- 2/ In 3 phase transformer, when a V — 'V system is converted to A - A system, increase in
capacity is
(@ 73.2% (b)y  86.6%
() 37.2% (d  57.7%

U 3Tecyeiey, e T @ear 12, Agfed 60 Hz arfa &/ ¢ (3rdiT#)/For an alternator, Number
of poles is 12, frequency is 60Hz. What is the speed (rpm)?

(@ 300 (b) 600

(© 900 d) 1800

Teh TETBIF Pl -—-ie- -4, % YT WA BT B/A transformer will have zero regulation at:
(@) Yed/Zero pf (b) NfS3T/Leading pf

(c) Zjﬁﬁ/U nity pf (d) ITf3raT/Lagging pf

THfERT 3T & FEFE ¥gid AT & FiF-a1 /Which of the following is the working

principle of thermocouple ammeter

(a) tﬁ?ﬂgﬂﬁ;’«? UHTd/Piezoelectric effect
(b) USST&RT {TA/Eddy current method

(c) e F3Td/Seebeck effect
(d) ﬁa:{lff ﬂﬁaﬁ'q {fd/Electromagnetic method

wwgﬁﬁrwﬁaﬁmgm%wm AT & AT 50mA &RT & gt Eher
%ﬁwaﬁaﬁmmﬁﬁmﬁﬁvTUﬁﬁ-l?-ﬂ‘;{f?ﬂﬁUETEHT%/Whatistheresistancetobe

added to convert a moving coil instrument having resistance 10€2, giving a full-scale deflection for
a current of 50mA, to measure 1A.

(@) 2000, ¥ A/series )  0.53Q, 2¢/shunt
() 200L, eTc/shunt d)  0.53Q, ¥ &/series

8 683 TA(ELE)
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32.

33.

34.

35.

et fov 3nfler & Fia-ar A yaaEded R A & [T 3uAfd §/Which of the following

ammeter will be used for measuring only alternating current?

(a) el gl YehIR/Moving iron type
(b) AT ?:I;W/Permanent magnet

(c) SAFCISBAIAS Yah/Electrodynamic type

(d) 9 YR/Induction type

B 3iTEg &1 Aol F 1Y 3=9 9T FF A9 & fov @ fu 3uewor 7 sia-ar 3gafaa

&/Which of the following instrument is used for measuring very high resistance of the order of Giga
ohms?

(a) HeCIHCY/ Multimeter (b) ATIR/Meggar
©) 3NFAATPT/Oscilloscope (d)  Herde 3def [93si/Kelvins double bridge

SAGTRIA A H HASA AN (o) e FHAOT G@rT gRena fFar STar @/In traction
motors, co-efficient of adhesion (fag) is defined by the following equation

(@ F=1000 p,W X 9.81 (b)  F=100 p,W X 9.81

() F=1000 (na/W) X 9.81 (dy  F=1000 p,W

ARd & guid faegd & 4 H T lF-ar areres a8 8/Which of the following is not the

voltage at which power is transmitted in India?

(@) 20kV (b) 66 kV
(c) 132kV (d) 220 kV.
ITaaH ART H FASAT AR & 3edrd C 1 — &gl Sar §/The ratio of maximum demand

to the connected load is called

(a) grsaﬁ'é‘r P d/f[afaerdr eceh/Diversity factor
(b) AT geah/Demand factor

(c) #AR °Tcah/Load factor
(d) B'Q'{EEF(T " ﬁé’ #T81/None of the above
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27,

38.

39.

40.

oo rau 1Y o] - ——— TiSeehIoT qT HsT 37fASfedd g/In transmission system, feeders are

designed from the point of view of
(a) dleedr 814/Voltage drop

(b) TATCIhI I STIT{%{/F requency of operations
(c) ©IRT dlgeh &HAT/Current carrying capacity
() 3UheFcd FHVAL of the above

A §OReT & AU wafad dleedr @aT g/What is the voltage selected for HVDC

transmission?
(@ ==500kV (b) +11kV
(c) ==415kV (d) +110kV

Te RN §amoeT 3@ 987 a7 9T JERT 3adrer T fdavor &%= §/An over head transmission

line having supports.at same level has the following details:

Tt T—iﬁ'lé’/Span lengthr= 200 m

qTeleh T FNTé uﬁt’ U@ RAWeight per unit length of the conductor = 600 kg/km

dTeTeh &l FHeTdd dels] Ieceldl/Ultimate tensile strength of the conductor = 5000 kg

IfE ITTTH THTST 1.2 m & N AFCT HT geah HTehfold He/Calculate the Factor of Safety, if

maximum sag is 1.2 m.

@ 1 ) 3
(c) 2 (@, 4
HfFeTd wraR Hfed & FACGR FIROT HfId Rerdr @ dLsafdeor # g7 w & v Qe &

da fraelt Festad gl ST @er g/If communication*cables are to be laid parallel to
underground power cables, what should be the minimum distafice to be maintained between the two
to avoid interference?

@ 02m (b) 4.0m

() 2.0m (d  0.6m

et & @ @la-wr oy edes sTadn fagga Ut ofdd 9g&d Tar 8/Which among the

following circuit breaker offer highest insulating strength
(@) de/Oil (b)  a/Air
(c) THUGH/ SFg (d FfETd/Vacuum
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41.

42.

43.

44,

45.

46.

U3e8 WYolS arR T FYAIT URT | oo CART 3Tehiold fahaT ST @ehar §/Fusing current I

N

of a round fuse wire can be calculated by

@ I=kd* B . I=kd?®

© I=kd"” @ I=kd?

8T/ Where F/k — Tt &I/ fuse constant

81/d — 91X T eg1/diameter of the wire .
EER 22 B TYC —— T 3eTE0T &/Buchholz relay is an example of

(a) ﬁ?.‘[g?f ?:I)EIEQQT UROT YR Rel/Electromagnetic Induction type relay
(b) el gaﬁw R el /Moving coil type relay

(c) ﬁﬁaﬁgm Rel/Physicoelectric relay
(d) Sorerel TH YR el /Electro-thermal type relay

125%W@%mwaﬂatmﬂﬁ,?ﬂé‘rsﬂnm400/5mm@rmﬁqu?

ST far amar &1 Ry HeA 8/ An over current relay, having a current setting of 125% is
connected to a supply circuit through,a CT of ratio 400/5. The pickup value is

(a) 625A (b) 6.25 A

(@)l 5 A (d) 1.25 A

I E{13 My Fr) ee—— dleedm & fow 39a1f3Td) §/Resistance earthing is used for voltages

(@) Below3.3kV (b) 33kVtollkV

(c) 66kVto132kV (d) Above 132 kV

R IR )| £ 1 | N —— ATETH § FEISC AT SATAT 8/The capacity of a crane is expressed
in terms of

(@) gI3d &l YhRX/Type of drive (b) CoHd/Tonnes

(c) ¥dTeT/Span (d) 3'¢é’$<‘-l’ GH/ALll of the above

EOEIIR BT E T I T 1 LUIE—— #AeX a1 §/The motor preferred for quick speed reversal is

(@) 3 AI/de motor

(b) TUfGerT 9ROT Hiex/ Slip ring induction motor

(c) @T@T T UROT Ae/ Squirrel cage induction motor
(d) Wﬁﬂ' HIeX/Synchronous motor

11 683 TA(ELE)
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48.

49.

50.

51.

ddl gl ITwerfd (@ - 9 Farferd fRam SITar 8/The long distance high speed railways

operate on
(@) 15 kV Uehal B THI/single phase ac

() 15 kV e g tH)/three phase ac
(©) 25kV dIeT g THl/three phase ac
d) 25 kV Uahdl g TdY/ single phase ac

3Tg g9 H ?Rffl' AW 47 garr A fou g H @l-a1 7 f&IT JATar §/Which of the following

colour is given by a mercury vapour lamp at high pressure.
(@) @ISt 9relT/Bluish yellow

(b) HATEIT /Bluish green

(c) &RATST THE/Greenish white

(d) #ATeITeT H%he/Bluish white

adg # el o wige (Rg) W ydifa, 38 Rg & @ & g & Frsa w7 3R gfaew
Folerd BT 2w X WY FAGAT ¢ AT 7 Pl @1 HuH F§ qarar 8 Which of the following

law states that “Illumination at any point on a surface is directly proportional to the cosine of the
angle between the normal at that point.and the direction of luminous flux”.

(a) W a3 /Bunsen’s law (b) TFH fATH/Plank’s law
(c) RS G/ araday’s law (d) ﬂm fATd/Lambert’s law

& oT & fav 50 & 3iga M Fa gET g el FoIFd FT &/A lamp has mean spherical
candle power of 50. What is the total flux?

(@) 628 e[HeT/lumen (b) 50 m e]#He1/lumen
(c) 314 ofHe/lumen (d) 50 ofHsT/lumén

dga VelidAe & foT 39T alvnm# 71 # & Sla-ar Agr &/Which of the following is not the

required property of heating element

(@ 3=d W/High melting point

(b) @oﬁ 3aReT &/ T & ﬂaﬂ/Free from oxidation in open atmosphere
(c) 3=d @W/High resistivity

(d) WTRIE &1 3T drg ?;rUTiEF/High temperature co-efficient of resistance
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52.

53:

54.

95.

56.

57,

st & @ wia-A1 faegd et &1 JH6R #/Which of the following is a type of electrical heating

(a) WTRIEY drdei/Resistance heating
(b) 9ROT dT9sT/Induction heating

(©) IEsafdee drdel/Dielectric heating
(d) Foderc F3f /All of the above

TF 200 Q dT9e A a” 35 VDC & waE # STl &l fopaelT grax diar Srdr 8/ A 200 Q
heating nicrome wire is subjected to 35 VDC. How much is the power drawn?

(@ 6.125 watts (b) 5.7 watts

(c) 0.175 watts (d) 7 watts

o= & & FiA-ar A=zl T A&7 &/Which of the following is not a secondary cell?
(@) m—m Iel/Silver-zinc cell

(b) ﬁﬁ-ﬁa‘ Fol/Niekel-zine cell

(c) ﬁﬂﬁ-ﬁ}fﬂ?{ Tel/Ziné-chlorine cell

(d) FS-31FT Aol/Lead-acid cell

WWW10@$@U3AWWWWMM%IH\HW#3@W
F fav, 20%%%@2AWW@TW%|WAhmmﬁ/Analkalinecellis

discharged at a steady current of 3A for 10 hotrs. ) To restore it to the original state, charging for
20 hours at a stead current of 2 A is required. Calculate.its Ah efficiency.

(@ 100% (b) 133%

(c) 50% (d  75%
mwmmﬁmmm%zﬁmﬁmﬁ ------------ 219/ When
a lead acid battery is discharging, the density of the electrolyte will

(a) E!j?’/lncrease (b) gerld/Decrease

(c) agr =R Tg9T/Remain constant (d) Y g13T/Become zero

dlecar TaEE # SAlE F HlaA-A1 TER sqafirg faFar Sar &/Which type of diodes are used in

voltage regulators?

(a) YU SAS/PN Diode (b)  SieR STATS/Zener Diode
(c) Qliedhr 3TS/Schottky Diode d) T 3EE/PIN Diode
13 683 TA(ELE)



58.

59.

60.

oy

dieeT Siererel & RerdeT &1 & /In a depletion region of PN junctions

(a)
(b)

(€)
(d)

SR & g 3l Solerelel 39ATRA 81T &/Holes and electrons drift away from the junction
oY ured 7 3Ta g Gigor 3R v ured 7 3=9 STl FiE\'UT/High hole concentration on

P-side and high electron concentration on N-side
HIT SAFCIA STl & 3TqATRT 1T 8/Only electrons drift away from the junction

AT 3 STerereT @ 3rgaa 1T 8/0nly holes drift away from the junction

afeT & deu & e & @ wla-ar a8 78 ¥ Which among the following is not true about

oscillator?

(@)

(b)

()
(d)

alferT 9Tk Jarfed aet & 34 8707 &F RA9eter 3cdeet &aT &/Oscillator produce signals

from the moment it is powered.

aYfer Teh gerreiioieh aRTY & St $e79e Y 3T & e 3mafties feerer segee awar
©/Oscillator is an electronic circuit which generates periodic signal without application of
input.

SIferd A9TeTa $Hisdeh ITANeT FHIar &/Oscillator uses negative feedback.

gifa T TR ader k* 03 ST T a¥t 3ot Y Hhdl ?-'/Oscillator can generate both

square wave and sine waye.

AT | CE O R T i D U ) o p— BT §/Temperature co-efficient of
resistance in a pure semiconductor is

(@)
(b)
(€)
(d)

AIMEG/ARRIcHS/Ne gative

R[=T/Zero

A&/ AHRIcHS/ Positive

a9 # 9Rad= afed ag 2w I&dT g/t remains consfant with change in temperature

THHINR &l ST 3HTeT T Al §/SCR can be turned ON by

(@)

(b)

(©

(d)

A3 IR FUs & fIT & BRAE deedr ger ch{gh/By decreasing the forward voltage
between anode and cathode

AT AR FM3 cfFiad & T v GHRICHS aleear 9Fd &/ Applying a positive voltage

between the gate and the cathode terminals

e AR WA fFfaa #F e gERIeAS areed 9gFd &I/ Applying positive voltage
between the gate and anode terminals

oI 379t & AT 300 & # UE'@BTIT {YhI/By keeping the SCR at 300K for long duration
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62.

63.

65.

gy @ & Mg guHEed & gRafda #UConvert Binary number to Hexa decimal

1110 0 0001 1011
@ E91C
¢ EAI1C

(b)
(d)

EA1B
DAIC

feu g &7 YT FAT §/What is the function of the given circuit?

%

X=f(A,B); Y=f(A, B)
(a) 3BrdIs/Decoder

(b) 3Ten faAtsieteh (cgaehaleAieh/Ha

(c) 3TTe AsTeh/Half Adder
(d) UIEI/Comparator

Wﬁrxﬁ?m,mﬁwm—ma;maﬁmﬁf@’

AB

MUX;

AB

RALIX

#r fRufa/The maximum

number of states that a free running counter with ‘n’ number of fli Sis
@ 2° () n
© 2™ d  2"1

AT A AT dleedl H HHRIOT
motor is given by

(a) Ey= V+1LR,

(© V=Ey+L'Rq

(b)
(d

15

fear SIar 8/The voltage equation of a DC

V=Ep+laRa
V =Ey L°R,
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66.

67.

68.

69.

SR SeeY ¥ efa P Rf@g fQevoh & sia-ar @@ 8/Which of the following statements

regarding DC generators are correct?

() o9 iw??l?-r H FHASNY TATSTh I HTaedHdr Tl %’/Equalizing connections are not required
in lap winding

(i) T reredr, 3T 4RT ST T g‘wSHFf &I I FHIAT &/Low voltage, high current
generators use lap winding

(iii) AT i@ﬂﬂ H IS T THFIY T 3G TH Ter ’(:'/Equalizing connections are not
necessary in wave winding

(iv) EFQ?ET arerge ¥ fAfFT §/Commutator is made of graphite

@ (1) &(ii) (b) (i) & (iv)
© (i) & (iii) @ @), (1) & (iv)

w4wm$m36mm%laﬁ§mﬁﬁa7mﬁmm%ﬁﬁa

" HThiad FUA 4 pole alternator has 36 stator slots. If the coil pitch is kept 7 slots, calculate its
pitch factor.

(@) Cos 40° ()  Cos20°
) Cos10° (d  Cos 60°

T 220V SR AT AT 30A I HLre A 500 FRATH # Toer ¥l Ay & 3o qdadt

AT @ I A FA7 Far Sv a 3ahr a1a snsford Y A 220 V DC shunt motor runs at

500 RPM, when the armature current is 30 A." Calculate the speed, if the torque is reduced to half
of its previous value. Given R, = 0.2Q.

(@ 750 rpm (b) 507 rpm
() 250 rpm (d) 1000 tpm

U 4-9e, 3-8 IR HlX 25 Hz T F Farferd T@aT #/In a 4 — pole, 3-phase induction motor
operating on 25 Hz AC supply, Calculate

(i) T @ ﬂ'«ﬁﬁw aTH H‘;U’iﬂ' W ARGTH & IfA/Speed in rpm at which the magnetic field of

the stator is rotating.

Giy ST FEerT 0.02 & 3757 Ej;UﬁE T 11T IRTTH & 3Tehford Fi/Speed in rpm of the rotor when

the slip is 0.02.
(@ 1500, 1470 (b) 750,735
(c) 3000, 1575 (d 1500, 1250
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70. fewrediffe #ex & o & faem garT fAuiRd f&ar STar §/The direction of rotation

of a hysteresis motor is determined by

71.

12

(@)

(b)

(©

(d)

fRETRTAT i &1f 71 IRA/Amount of hysteresis loss

qET gd qdga gU HashH %ﬁiﬁl’ FEafa/Position of shaded pole with respect to main pole
e Al oy ilﬂﬁ?lT/Retentivity of the rotor material

3'¢§T=I~FI' H EI'v’I'é’ T&1/None of the above

Siis fAETSTE/Match the following :

=t - 1.Common Ground

e - 2.Chassis Ground

é) - 3. Iron Gore Inductor
c

(@)
()

- 4. Fuse Qéw

- 5. Current Q 2
,7'7 urrent sourc ﬂ/(} »
a-4; b-3; ¢-5; d-2 (b)*’ffﬁ'i% b-4; c-3; d-1

a-4 ; b-3; ¢-5; d-1 (d  a-5; b-3;c-4;d-2

el da130/Simplify the following :

X=(A+B)B; Y=(AB +C)B; Z=(AB +AB)A;

(@)
(b)
(c)
(d)

X=0; Y=B(A’+C); Z= AB’
X=B; Y=1;Z=A

C=A’B’; Y=1; Z= (A XOR B)
X=A’B; Y=1; Z= A’B
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73. SIHT TR Al i AT 3mepfag wY T g3 ST/ dRr#HIeR 8/ Calculate the speed of the DC

74.

75.

traction motor. Given parameters are
YRT/Current =30 A; EIéF/Torque= 200N-m; FdTeleT dlecdl/operating voltage = 220 V;3{TH=R
gRay $r m/ Resistance of the Armature circuit = 0.5Q

(@ 293 RPM (b) 893 RPM
() 1700 RPM (d 500 RPM

FFR YOIl H 3T3CqT IFagfFaar ggariaid F¥/Identify the output device/devices in a

computer system
(1) HAT3H/Mouse

(ii) aﬁlﬁ’lé’/Keyboard

(iiiy EIIY/Scanner

(iv) TIe/Printer

(@) iii, iv (b) 1, 1ii, iii, iv

(c) 1v : (d) 1, il, iv

TATE fhE & e o i P Farer Far 2/What is the operation the following short cut
keys in MS office
(i) Cul+K;

(i) Ctrl+N
(@ @ 3-1'«1% EEXIE mﬁ ol ﬁ'g’ FY/Redo the last action performed
(i) U, Rea ETai’_I’ﬁE' fa=sr Gefdr ?C/Opens a.new, blank document window.
(b) () U G oIk AlewITase hi/Insert a hyperlink
(i) U 4T ReFd yor@ fa=ar oAl &/ Opens a new, blank.document window
© () U BRI Ioich AfewATase &/Insert a hyperlink
(i) Y@ Hr a&d Aol hi/Select all the contents of the document
@ @ vegH a¥d TolFT F¥/Select all the contents of the document
(i) U BISURToieh HieaI1aSE ¥/Insert a hyperlink
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